13th January 2021
Learning objective: I understand how to add two numbers together.
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Complete the number sentences.
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a There are 2 cherry sweets and 4 lemon sweets. How many altogether?
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b There are 3 red cars and 5 yellow cars. How many altogether?
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¢ There are 3 red balls and 6 yellow balls. How many altogether?
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d  There are 8 red balloons and 2 yellow balloons. How many altogether?
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e There are 5 red boxes and 2 yellow boxes. How many altogether?
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Complete the number sentences and part-whole models to represent the whole.

a If2isapartand 3is apart,

what is the whole? is a part.

is a part.

is the whole.

b If5isapartand 4is apart,

what is the whole? is a part.

is a part.

is the whole.

c¢ Ifébisapartand 2is apart,

what is the whole? is a part.

is a part.

is the whole.

d If7isapartand 3is apart,

what is the whole? is a part.

is a part.

is the whole.

e If2isapartand 4is apart,

what is the whole? is a part.

is a part.

is the whole.
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